

**ITERATION PROCESSES OF
ASYMPTOTICALLY PSEUDO-CONTRACTIVE
MAPPINGS IN BANACH SPACES**

JONG YEOUL PARK AND JAE UG JEONG

ABSTRACT. Some convergence theorems of modified Ishikawa and Mann iteration processes with errors for asymptotically pseudo-contractive and asymptotically nonexpansive mappings in Banach spaces are obtained. The results presented in this paper improve and extend the corresponding results in Liu [7] and Schu [10].

1. Introduction and Preliminaries

Throughout this paper, we assume that E is a real Banach space, E^* is the dual space of E , and $\langle \cdot, \cdot \rangle$ denotes the pairing of E and E^* . The mapping $J : E \rightarrow 2^{E^*}$ defined by

$$J(x) = \{f \in E^* : \langle x, f \rangle = \|x\|^2 = \|f\|^2\}$$

is called the normalized duality mapping.

DEFINITION 1.1. Let $T : D \subset E \rightarrow E$ be a mapping.

- (1) T is said to be asymptotically nonexpansive if there exists a subsequence $\{k_n\}$ in $[1, \infty)$ with $\lim_{n \rightarrow \infty} k_n = 1$ such that

$$\|T^n x - T^n y\| \leq k_n \|x - y\|$$

for all $x, y \in D$ and $n = 1, 2, \dots$.

Received February 21, 2001.

2000 Mathematics Subject Classification: 47H10, 47H09.

Key words and phrases: asymptotically nonexpansive mapping, asymptotically pseudo-contractive mapping, modified Ishikawa iteration processes.

- (2) T is said to be asymptotically pseudo-contractive if there exists a sequence $\{k_n\}$ in $[1, \infty)$ with $\lim_{n \rightarrow \infty} k_n = 1$ and for any $x, y \in D$ there exists $j(x - y) \in J(x - y)$ such that

$$\langle T^n x - T^n y, j(x - y) \rangle \leq k_n \|x - y\|^2$$

for all $n = 1, 2, \dots$.

The concepts of asymptotically nonexpansive mapping and asymptotically pseudo-contractive mapping were introduced by Goebel and Kirk [3], and Sch [10], respectively. An early fundamental result due to Goebel and Kirk [3] showed that if E is a uniformly convex Banach space, D is a nonempty bounded closed convex subset of E and $T : D \rightarrow D$ is an asymptotically nonexpansive mapping, then T has a fixed point in D . This result is a generalization of the corresponding results in Browder [1] and Kirk [5].

The following proposition follows from Definition 1.1 immediately.

PROPOSITION 1.1. (1) *If $T : D \subset E \rightarrow E$ is a nonexpansive mapping, then T is an asymptotically nonexpansive mapping with a constant sequence $\{1\}$.*

(2) *If $T : D \subset E \rightarrow E$ is an asymptotically nonexpansive mapping, then T is an asymptotically pseudo-contractive mapping.*

We first recall the following iteration process due to Liu [6].

(I) The Ishikawa iteration process with errors is defined as follows: For a nonempty subset D of a Banach space E and a mapping $T : D \subset E \rightarrow E$, the sequence $\{x_n\}$ in D is defined by

$$\begin{aligned} x_0 &\in D, \\ x_{n+1} &= (1 - \alpha_n)x_n + \alpha_n T y_n + u_n, \\ y_n &= (1 - \beta_n)x_n + \beta_n T x_n + v_n, \quad n \geq 0, \end{aligned}$$

where $\{u_n\}$ and $\{v_n\}$ are two summable sequences in E , i.e., $\sum_{n=0}^{\infty} \|u_n\| < \infty$, $\sum_{n=0}^{\infty} \|v_n\| < \infty$, and $\{\alpha_n\}$, $\{\beta_n\}$ are two sequences in $[0, 1]$ satisfying certain restrictions.

Note that the Mann [8] and Ishikawa [4] iteration processes are all special cases of the Ishikawa iteration process with errors. Inspired by

[7, 10], we introduce the following concept of the modified Ishikawa iteration process with errors.

(II) The modified Ishikawa iteration process with errors is defined as follows: For a nonempty subset D of a Banach space E and a mapping $T : D \subset E \rightarrow E$, the sequence $\{x_n\}$ in D is defined by

$$\begin{aligned} x_0 &\in D, \\ x_{n+1} &= (1 - \alpha_n)x_n + \alpha_n T^n y_n + u_n, \\ y_n &= (1 - \beta_n)x_n + \beta_n T^n x_n + v_n, \quad n \geq 0, \end{aligned}$$

where $\{u_n\}$ and $\{v_n\}$ are two summable sequences in E , i.e., $\sum_{n=0}^{\infty} \|u_n\| < \infty$, $\sum_{n=0}^{\infty} \|v_n\| < \infty$, and $\{\alpha_n\}$, $\{\beta_n\}$ are two sequences in $[0, 1]$ satisfying certain restriction.

In particular, if $\beta_n = v_n = 0$ for all $n \geq 0$, then $y_n = x_n$. The sequence $\{x_n\}$ defined by

$$\begin{aligned} x_0 &\in D, \\ x_{n+1} &= (1 - \alpha_n)x_n + \alpha_n T^n x_n + u_n, \quad n \geq 0, \end{aligned}$$

is called the modified Mann iteration process with errors.

The iterative approximation problems for nonexpansive mapping, asymptotically nonexpansive mapping, and asymptotically pseudo-contractive mapping were studied extensively by Browder [1], Liu [7], Rhoades [9], and Schu [10] in the setting of Hilbert spaces.

The purpose of this paper is to study the iterative approximation problems of fixed points for asymptotically pseudo-contractive mappings and asymptotically nonexpansive mappings by the modified Mann and Ishikawa iteration processes with errors in uniformly smooth Banach spaces. Our results presented in this paper improve and extend some results in [7, 10].

The following Lemmas play an important role in this paper.

LEMMA 1.1 ([2]). *Let E be a real Banach space, $J : E \rightarrow 2^{E^*}$ be a normalized duality mapping. Then for all $x, y \in E$*

$$\|x + y\|^2 \leq \|x\|^2 + 2\langle y, j(x + y) \rangle$$

for all $j(x + y) \in J(x + y)$.

LEMMA 1.2 ([11]). Let E be a uniformly convex real Banach space, D be a nonempty closed convex subset of E , and $T : D \rightarrow D$ be a nonexpansive mapping. If the set $F(T)$ of fixed points of T is nonempty, then for any $x \in D$, $q \in F(T)$, and any $j(x - q) \in J(x - q)$, the inequality

$$\langle Tx - q, j(x - y) \rangle - \|x - q\|^2 = 0$$

holds if and only if $x = q$.

2. Main Results

THEOREM 2.1. Let E be a real uniformly smooth Banach space, D be a nonempty bounded closed convex subset of E , $T : D \rightarrow D$ be an asymptotically pseudo-contractive mapping with a sequence $\{k_n\} \subset [1, \infty)$, $\lim_{n \rightarrow \infty} k_n = 1$, and $F(T) \neq \emptyset$. Let $\{u_n\}$ and $\{v_n\}$ be two summable sequences in E and $\{\alpha_n\}$ and $\{\beta_n\}$ be two real sequences in $[0, 1]$ satisfying the following conditions:

(i) $\lim_{n \rightarrow \infty} \alpha_n = \lim_{n \rightarrow \infty} \beta_n = 0$,

(ii) $\sum_{n=0}^{\infty} \alpha_n = \infty$.

Then for any given $x_0 \in D$, the modified Ishikawa iteration process with errors $\{x_n\} \subset D$ defined by

$$\begin{aligned} x_{n+1} &= (1 - \alpha_n)x_n + \alpha_n T^n y_n + u_n, \\ y_n &= (1 - \beta_n)x_n + \beta_n T^n x_n + v_n, \quad n \geq 0, \end{aligned}$$

strongly converges to $q \in F(T)$ if and only if there exists a strictly increasing function $\phi : [0, \infty) \rightarrow [0, \infty)$, $\phi(0) = 0$ such that

$$(2.1) \quad \langle T^n y_n - q, J(y_n - q) \rangle \leq k_n \|y_n - q\|^2 - \phi(\|y_n - q\|)$$

for all $n \geq 0$.

Proof. NECESSITY. Let $x_n \rightarrow q \in F(T)$. Since D is a bounded set, $\{T^n x_n\}$ and $\{T^n y_n\}$ are both bounded. Therefore we have

$$y_n = (1 - \beta_n)x_n + \beta_n T^n x_n + v_n \rightarrow q \quad (\text{as } n \rightarrow \infty),$$

because $\beta_n \rightarrow 0$ and $\{v_n\}$ is a summable sequence in E . Define $K = \sup_{n \geq 0} \{\|y_n - q\|\} < \infty$. If $K = 0$, then $y_n = q$ for all $n \geq 0$. Hence

(2.1) is true for all $n \geq 0$. If $K > 0$, define

$$\begin{aligned} G_t &= \{n \in N : \|y_n - q\| \geq t\}, \quad t \in (0, K), \\ G_K &= \{n \in N : \|y_n - q\| = K\}, \end{aligned}$$

where N is the set of all nonnegative integers. Since $y_n \rightarrow q$, for any $t \in (0, K]$, there exists $n_0 \in N$ such that for any $n \geq n_0$,

$$\|y_n - q\| < t.$$

This implies that for each $t \in (0, K)$

- (a) G_t is a nonempty finite subset of N ;
- (b) $G_{t_1} \subset G_{t_2}$ if $t_1 \geq t_2$, $t_1, t_2 \in (0, K)$;
- (c) $G_K = \bigcap_{t \in (0, K)} G_t$.

Since $T : D \rightarrow D$ is asymptotically pseudo-contractive, for given $q \in F(T)$ and for any y_n , we have

$$(2.2) \quad \langle T^n y_n - q, J(y_n - q) \rangle \leq k_n \|y_n - q\|^2, \quad n \geq 0.$$

By virtue of (2.2), we define a function

$$g(t) = \min_{n \in G_t} \{k_n \|y_n - q\|^2 - \langle T^n y_n - q, J(y_n - q) \rangle\}, \quad t \in (0, K).$$

From (2.2) and property (b), we know that

- (d) $g(t) \geq 0$ for all $t \in (0, K)$;
- (e) $g(t)$ is nondecreasing in $t \in (0, K)$.

Next we define a function

$$\phi(t) = \begin{cases} 0 & \text{if } t = 0, \\ \frac{t}{1+t} g(t) & \text{if } t \in (0, K), \\ \lim_{s \rightarrow K^-} \frac{t}{1+t} g(s) & \text{if } t \in [K, \infty). \end{cases}$$

Hence $\phi : [0, \infty) \rightarrow [0, \infty)$ is increasing and $\phi(0) = 0$. For any $n \geq 0$, let $t_n = \|y_n - q\|$. If $t_n = 0$, then $y_n = q$. Hence $\phi(\|y_n - q\|) = 0$, and

$$\begin{aligned} \langle T^n y_n - q, J(y_n - q) \rangle &\leq k_n \|y_n - q\|^2 \\ &= k_n \|y_n - q\|^2 - \phi(\|y_n - q\|). \end{aligned}$$

If $t_n \in (0, K)$, then $n \in G_{t_n}$ and so

$$\begin{aligned} \phi(\|y_n - q\|) &= \phi(t_n) \\ &\leq \min_{m \in G_{t_n}} \{k_m \|y_m - q\|^2 - \langle T^m y_m - q, J(y_m - q) \rangle\} \\ &\leq k_n \|y_n - q\|^2 - \langle T^n y_n - q, J(y_n - q) \rangle. \end{aligned}$$

If $t_n = K$, then $n \in G_K = \bigcap_{s \in (0, K)} G_s$ and so

$$\begin{aligned} \phi(\|y_n - q\|) &= \lim_{s \rightarrow K^-} \frac{K}{1 + K} g(s) \\ &\leq k_n \|y_n - q\|^2 - \langle T^n y_n - q, J(y_n - q) \rangle. \end{aligned}$$

SUFFICIENCY. From Lemma 1.1 we have

$$\begin{aligned} &\|x_{n+1} - q\|^2 \\ &\leq \|(1 - \alpha_n)(x_n - q) + \alpha_n(T^n y_n - q)\|^2 \\ &\quad + 2\langle u_n, J(x_{n+1} - q) \rangle \\ (2.3) \quad &\leq (1 - \alpha_n)^2 \|x_n - q\|^2 + 2\alpha_n \langle T^n y_n - q, J(x_{n+1} - q - u_n) \rangle \\ &\quad + 2\langle u_n, J(x_{n+1} - q) \rangle \\ &\leq (1 - \alpha_n)^2 \|x_n - q\|^2 \\ &\quad + 2\alpha_n \langle T^n y_n - q, J(x_{n+1} - q - u_n) - J(y_n - q) \rangle \\ &\quad + 2\alpha_n \langle T^n y_n - q, J(y_n - q) \rangle + 2\langle u_n, J(x_{n+1} - q) \rangle. \end{aligned}$$

Now we consider the second term on the right side of (2.3). Since $\{T^n y_n - y_n\}$, $\{x_n - T^n x_n\}$ both are bounded and

$$\begin{aligned} &x_{n+1} - q - u_n - (y_n - q) \\ &= (1 - \alpha_n)(x_n - y_n) + \alpha_n(T^n y_n - y_n) \\ &= (1 - \alpha_n)[\beta_n(x_n - T^n x_n) - v_n] + \alpha_n(T^n y_n - y_n). \end{aligned}$$

Therefore

$$x_{n+1} - q - u_n - (y_n - q) \rightarrow 0 \quad (\text{as } n \rightarrow \infty).$$

By the uniform continuity of J and the boundedness of $\{T^n y_n - q\}$,

$$\begin{aligned} p_n &= \langle T^n y_n - q, J(x_{n+1} - q - u_n) - J(y_n - q) \rangle \\ (2.4) \quad &\rightarrow 0 \quad \text{as } n \rightarrow \infty. \end{aligned}$$

Substituting (2.4) and (2.1) into (2.3), we have

$$(2.5) \quad \begin{aligned} \|x_{n+1} - q\|^2 &\leq (1 - \alpha_n)^2 \|x_n - q\|^2 + 2\alpha_n p_n \\ &\quad + 2\alpha_n \{k_n \|y_n - q\|^2 - \phi(\|y_n - q\|)\} + 2\|u_n\|M_1, \end{aligned}$$

where $M_1 = \sup_{n \geq 0} \{\|x_n - q\|\} < \infty$.

Next we make an estimation for $\|y_n - q\|^2$.

$$(2.6) \quad \begin{aligned} \|y_n - q\|^2 &\leq \|(1 - \beta_n)(x_n - q) + \beta_n(T^n x_n - q)\|^2 + 2\langle v_n, J(y_n - q) \rangle \\ &\leq (1 - \beta_n)^2 \|x_n - q\|^2 + 2\beta_n \langle T^n x_n - q, J(y_n - q - v_n) \rangle \\ &\quad + 2\langle v_n, J(y_n - q) \rangle \\ &\leq (1 - \beta_n)^2 \|x_n - q\|^2 + 2\beta_n M_2 + 2\|v_n\|M_3, \end{aligned}$$

where

$$M_2 = \sup_{n \geq 0} \{\|T^n x_n - q\| \|y_n - q - v_n\|\} < \infty$$

and

$$M_3 = \sup_{n \geq 0} \{\|y_n - q\|\} < \infty.$$

Substituting (2.6) into (2.5) and using $M_4 = \sup_{n \geq 0} \{\|x_n - q\|^2\}$ to simplify we get

$$(2.7) \quad \begin{aligned} &\|x_{n+1} - q\|^2 \\ &\leq [(1 - \alpha_n)^2 + 2\alpha_n k_n (1 - \beta_n)^2] \|x_n - q\|^2 \\ &\quad + 2\alpha_n (p_n + 2\beta_n k_n M_2 + 2\|v_n\|k_n M_3) \\ &\quad - 2\alpha_n \phi(\|y_n - q\|) + 2\|u_n\|M_1 \\ &\leq \|x_n - q\|^2 - \alpha_n \phi(\|y_n - q\|) \\ &\quad - \alpha_n \{\phi(\|y_n - q\|) - [-2 + \alpha_n + 2k_n(1 - \beta_n)^2]M_4 \\ &\quad - 2(p_n + 2\beta_n k_n M_2 + 2\|v_n\|k_n M_3)\} + 2\|u_n\|M_1. \end{aligned}$$

Let $\sigma = \inf_{n \geq 0} \{\|y_n - q\|\}$. Next we prove that $\sigma = 0$.

Suppose that $\sigma > 0$. Then $\|y_n - q\| \geq \sigma > 0$ for all $n \geq 0$. Hence $\phi(\|y_n - q\|) \geq \phi(\sigma) > 0$. From (2.7) we have

$$(2.8) \quad \begin{aligned} \|x_{n+1} - q\|^2 &\leq \|x_n - q\|^2 - \alpha_n \phi(\sigma) - \alpha_n \{\phi(\sigma) \\ &\quad - (-2 + \alpha_n + 2k_n)M_4 \\ &\quad - 2(p_n + 2\beta_n k_n M_2 + 2\|v_n\|k_n M_3)\} \\ &\quad + 2\|u_n\|M_1. \end{aligned}$$

Since $\alpha_n \rightarrow 0$, $\beta_n \rightarrow 0$, $p_n \rightarrow 0$, $k_n \rightarrow 1$, and $v_n \rightarrow 0$, there exists n_1 such that for all $n \geq n_1$

$$\phi(\sigma) - (-2 + \alpha_n + 2k_n)M_4 - 2(p_n + 2\beta_n k_n M_2 + 2\|v_n\|k_n M_3) > 0.$$

Hence from (2.8), we get

$$\|x_{n+1} - q\|^2 \leq \|x_n - q\|^2 - \alpha_n \phi(\sigma) + 2\|u_n\|M_1$$

for all $n \geq n_1$. That is,

$$\alpha_n \phi(\sigma) \leq \|x_n - q\|^2 - \|x_{n+1} - q\|^2 + 2\|u_n\|M_1$$

for all $n \geq n_1$. Therefore for any $m \geq n_1$ we have

$$\begin{aligned} \sum_{n=n_1}^m \alpha_n \phi(\sigma) &\leq \|x_{n_1} - q\|^2 - \|x_{m+1} - q\|^2 + 2M_1 \sum_{n=n_1}^m \|u_n\| \\ &\leq \|x_{n_1} - q\|^2 + 2M_1 \sum_{n=n_1}^m \|u_n\|. \end{aligned}$$

Let $m \rightarrow \infty$. Then we obtain

$$\infty = \sum_{n=n_1}^{\infty} \alpha_n \phi(\sigma) \leq \|x_{n_1} - q\|^2 + 2M_1 \sum_{n=n_1}^{\infty} \|u_n\|.$$

This is a contradiction. Hence $\sigma = 0$. Therefore there exists a subsequence $\{y_{n_j}\} \subset \{y_n\}$ such that

$$y_{n_j} \rightarrow q \quad (\text{as } n_j \rightarrow \infty).$$

That is,

$$y_{n_j} = (1 - \beta_{n_j})x_{n_j} + \beta_{n_j}T^{n_j}x_{n_j} + v_{n_j} \rightarrow q \quad (\text{as } n_j \rightarrow \infty).$$

Since $\alpha_{n_j} \rightarrow 0$, $\beta_{n_j} \rightarrow 0$, $u_{n_j} \rightarrow 0$, $v_{n_j} \rightarrow 0$, and $\{T^{n_j}x_{n_j}\}$ and $\{T^{n_j}y_{n_j}\}$ both are bounded, this implies that

$$(2.9) \quad x_{n_j} \rightarrow q \quad (\text{as } n_j \rightarrow \infty).$$

From (2.9) we have

$$x_{n_j+1} = (1 - \alpha_{n_j})x_{n_j} + \alpha_{n_j}T^{n_j}y_{n_j} + u_{n_j} \rightarrow q \quad (\text{as } n_j \rightarrow \infty)$$

and so

$$y_{n_j+1} = (1 - \beta_{n_j+1})x_{n_j+1} + \beta_{n_j+1}T^{n_j+1}x_{n_j+1} + v_{n_j+1} \rightarrow q \quad (\text{as } n_j \rightarrow \infty).$$

By induction we can prove that

$$x_{n_j+i} \rightarrow q \quad \text{and} \quad y_{n_j+i} \rightarrow q \quad (\text{as } n_j \rightarrow \infty)$$

for all $i \geq 0$. This implies that $x_n \rightarrow q$. This completes the proof of Theorem 2.1. \square

From Theorem 2.1 and Proposition 1.1 we can obtain the following theorem.

THEOREM 2.2. *Let E be a real uniformly smooth Banach space, D be a nonempty bounded closed convex subset of E , $T : D \rightarrow D$ be an asymptotically nonexpansive mapping with a sequence $\{k_n\} \subset [1, \infty)$, $\lim_{n \rightarrow \infty} k_n = 1$, and $F(T) \neq \emptyset$. Let $\{u_n\}$ and $\{v_n\}$ be two summable sequences in E and $\{\alpha_n\}$ and $\{\beta_n\}$ be two real sequences in $[0, 1]$ satisfying the conditions (i) and (ii) in Theorem 2.1. Then for any given $x_0 \in D$, the modified Ishikawa iteration process with errors $\{x_n\} \subset D$ defined by*

$$\begin{aligned} x_{n+1} &= (1 - \alpha_n)x_n + \alpha_n T^n y_n + u_n, \\ y_n &= (1 - \beta_n)x_n + \beta_n T^n x_n + v_n, \quad n \geq 0, \end{aligned}$$

strongly converges to $q \in F(T)$ if and only if there exists a strictly increasing function $\phi : [0, \infty) \rightarrow [0, \infty)$, $\phi(0) = 0$ such that

$$\langle T^n y_n - q, J(y_n - q) \rangle \leq k_n \|y_n - q\|^2 - \phi(\|y_n - q\|)$$

for all $n \geq 0$.

THEOREM 2.3. *Let E be a uniformly convex and uniformly smooth real Banach space, D be a nonempty bounded closed convex subset of E , and $T : D \rightarrow D$ be a nonexpansive mapping. Let $\{u_n\}$ and $\{v_n\}$ be two summable sequences in E , and $\{\alpha_n\}$ and $\{\beta_n\}$ be two real sequences in $[0, 1]$ satisfying the conditions (i) and (ii) in Theorem 2.1. Then for any given $x_0 \in D$, the modified Ishikawa iteration process with errors $\{x_n\} \subset D$ defined by*

$$\begin{aligned}x_{n+1} &= (1 - \alpha_n)x_n + \alpha_n T^n y_n + u_n, \\y_n &= (1 - \beta_n)x_n + \beta_n T^n x_n + v_n, \quad n \geq 0,\end{aligned}$$

strongly converges to $q \in F(T)$ if and only if there exists a strictly increasing function $\phi : [0, \infty) \rightarrow [0, \infty)$, $\phi(0) = 0$ such that

$$(2.10) \quad \langle T^n y_n - q, J(y_n - q) \rangle \geq \|y_n - q\|^2 - \phi(\|y_n - q\|)$$

for all $n \geq 0$.

Proof. Since $T : D \rightarrow D$ is a nonexpansive mapping, by Proposition 1.1, T is an asymptotically nonexpansive mapping with a constant sequence $\{1\}$, and so it is also an asymptotically pseudo-contractive mapping with the constant sequence $\{1\}$. By Goebel and Kirk [3], $F(T) \neq \emptyset$. Therefore the sufficiency of Theorem 2.3 follows from Theorem 2.1 immediately.

Next we prove the necessity of Theorem 2.3. Since E is a uniformly smooth Banach space, the normalized duality mapping $J : E \rightarrow E^*$ is single valued. Let $x_n \rightarrow q \in F(T)$. Since $\{T^n x_n\}$ is bounded, we know that

$$y_n = (1 - \beta_n)x_n + \beta_n T^n x_n + v_n \rightarrow q \quad (\text{as } n \rightarrow \infty).$$

By the same way as given in proving necessity of Theorem 2.1, let us define

$$\begin{aligned}K &= \sup_{n \geq 0} \{\|y_n - q\|\} < \infty, \\G_t &= \{n \in N : \|y_n - q\| \geq t\}, \quad t \in (0, K), \\G_K &= \{n \in N : \|y_n - q\| = K\}, \\g(t) &= \min_{n \in G_t} \{\|y_n - q\|^2 - \langle T^n y_n - q, J(y_n - q) \rangle\}, \quad t \in (0, K).\end{aligned}$$

In Theorem 2.1 we have proved that $g(t)$ is nondecreasing and $g(t) \geq 0$ for all $t \in (0, K)$.

Next we prove that $g(t) > 0$ for all $t \in (0, K)$. Suppose there exists $t_0 \in (0, K)$ such that $g(t_0) = 0$. Since G_{t_0} is a finite set, there exists an $n_0 \in G_{t_0}$ such that

$$(2.11) \quad 0 = g(t_0) = \|y_{n_0} - q\|^2 - \langle T^{n_0}y_{n_0} - q, J(y_{n_0} - q) \rangle.$$

From Lemma 1.2 and (2.11), it follows that $y_{n_0} = q$. Hence $\|y_{n_0} - q\| = 0$. However, since $n_0 \in G_{t_0}$, by the definition of G_{t_0} , we have $\|y_{n_0} - q\| \geq t_0 > 0$. This is a contradiction. Therefore $g(t) > 0$ for all $t \in (0, K)$.

Now we define a function

$$\phi(t) = \begin{cases} 0 & \text{if } t = 0, \\ \frac{t}{1+t}g(t) & \text{if } t \in (0, K), \\ \frac{t}{1+t} \lim_{s \rightarrow k_-} g(s) & \text{if } t \in [K, \infty). \end{cases}$$

Since g is nondecreasing and $g(t) > 0$ for all $t \in (0, K)$, $\phi(t) : [0, \infty) \rightarrow [0, \infty)$ is strictly increasing, $\phi(0) = 0$. By the same way as given in the proof of Theorem 2.1, we can prove that ϕ satisfies condition (2.10). This completes the proof of Theorem 2.3. □

THEOREM 2.4. *Let E be a real uniformly smooth Banach space, D be a nonempty bounded closed convex subset of E , $T : D \rightarrow D$ be an asymptotically pseudo-contractive mapping with a sequence $\{k_n\} \subset [1, \infty)$, $\lim_{n \rightarrow \infty} k_n = 1$, and $F(T) \neq \emptyset$. Let $\{u_n\}$ be a summable sequence in E and $\{\alpha_n\}$ be a real sequence in $[0, 1]$ satisfying the following conditions:*

- (i) $\lim_{n \rightarrow \infty} \alpha_n = 0$;
- (ii) $\sum_{n=0}^{\infty} \alpha_n = \infty$.

Then for any given $x_0 \in D$, the modified Mann iteration process with errors $\{x_n\} \subset D$ defined by

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T^n x_n + u_n, \quad n \geq 0,$$

strongly converges to $q \in F(T)$ if and only if there exists a strictly increasing function $\phi : [0, \infty) \rightarrow [0, \infty)$, $\phi(0) = 0$ such that

$$\langle T^n x_n - q, J(x_n - q) \rangle \leq k_n \|x_n - q\|^2 - \phi(\|x_n - q\|)$$

for all $n \geq 0$.

Proof. Taking $\beta_n = v_n = 0$ for all $n \geq 0$ in Theorem 2.1, then we have $y_n = x_n$ for all $n \geq 0$. Therefore the conclusion of Theorem 2.4 follows from Theorem 2.1 immediately. □

References

- [1] F. E. Browder, *Nonexpansive nonlinear operators in Banach spaces*, Proc. Nat. Acad. Sci. USA **54** (1965), 1041–1044.
- [2] S. S. Chang, *Some problems and results in the study of nonlinear analysis*, Nonlinear Anal. TMA **30** (1997), no. 7, 4197–4208.
- [3] K. Goebel and W. A. Kirk, *A fixed point theorem for asymptotically nonexpansive mappings*, Proc. Amer. Math. Soc. **35** (1972), no. 1, 171–174.
- [4] S. Ishikawa, *Fixed points by a new iteration method*, Proc. Amer. Math. Soc. **44** (1974), 147–150.
- [5] W. A. Kirk, *A fixed point theorem for mappings which do not increase distance*, Amer. Math. Monthly **72** (1965), 1004–1006.
- [6] L. S. Liu, *Ishikawa and Mann iterative process with errors for nonlinear strongly accretive mappings in Banach spaces*, J. Math. Anal. Appl. **194** (1995), 114–125.
- [7] Q. H. Liu, *Convergence theorems of the sequence of iterates for asymptotically demi-contractive and hemi-contractive mappings*, Nonlinear Anal. TMA **26** (1996), no. 11, 1835–1842.
- [8] W. R. Mann, *Mean value methods in iteration*, Proc. Amer. Math. Soc. **4** (1953), 506–510.
- [9] B. E. Rhoades, *Comments on two fixed point iterative methods*, J. Math. Anal. Appl. **56** (1976), 741–750.
- [10] J. Schu, *Iterative construction of fixed points of asymptotically nonexpansive mappings*, J. Math. Anal. Appl. **158** (1991), 407–413.
- [11] Z. B. Xu and G. F. Roach, *A necessary and sufficient condition for convergence of steepest decent approximation to accretive operator equations*, J. Math. Anal. Appl. **167** (1992), 340–354.

JONG YEOUL PARK, DEPARTMENT OF MATHEMATICS, PUSAN NATIONAL UNIVERSITY, PUSAN 609-735, SOUTH KOREA
E-mail: jyepark@hyowon.pusan.ac.kr

JAE UG JEONG, DEPARTMENT OF MATHEMATICS, DONG-EUI UNIVERSITY, PUSAN 614-714, SOUTH KOREA
E-mail: jujeong@hyomin.dongui.ac.kr